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(190.94 x 2+376.23+95.47 x 2+14.04x6) = 1033.3 kg
HiEEH t=10mm BEHM 60 m2
1.5 X 3+0.75 X 2= 6.0
REERE
HEFR®EEY t=5cm
HEERRERYIEL L1-3 HEN B 2900 m2
A=68.0 X 3+34.0 X 2+3.0 X 6= 290.0
RIET HEE®mEKY t=20cm
580 m3
V= 2900 Xx 02 = 58.0
AsFRER 145 m3
V= 2900 X 005 m = 145
AsFR L5
V= 145 x 235 = 34.1 341t
51 E i
V= 2900 X 02 m = 58 580 m3
Et
V= 580 580 m3

X*iﬁﬁﬁﬁ@ﬁ;l%&@%ﬁ%(7«(5>I~“?§IEEH¥I:J:L)§§1%?|£EJJ)




SHEEIRT it & P2
T Ed g =X # =
N ) TERKY
81 A-n—L4T) Y14 T (t=5cm) 735 m2
A= (65.0+40.0) x 7.0(1g)= 735.0
YIHI BEM Eilk T 368 m3
V= 73500 x 005 = 36.75
YIHI B+ 405 864 t
W= 36.75 x 235 = 86.4
F—/\—L A L({t=5cm) BZ20F 735 m2

A= (65.0+40.0) x 7.0(1&)= 735.0




EIEi5 it HE £ P3
T i g N 8 =
VEL e EN
+T B ER KLY
iR T HEE N
V= 4185
419 m3
WET R ER KLY
avsy—hEEL|  HERE M
V=12.09m3 121 m3
HER M ER &Y
CoREH $Epar o) —k 121 m3
V=12.09
Conx 73 gmar o) —k
V=12.09 X 2.50 302 t
HER M ER &Y
% 1 E i
V=41.85x 1.2 502 m3
s
REE(EEXHRET D) 502 m3
e ER LY
AstiZEEIR
TREEE B MM-25 117 m2
A= 11718
117 m2

A—/N\—L A I(t=5cm) B%20
A= 11718




FrEEHR T it § E P4
T & =1 =X po =
Aig
s T
REIHEMT| HA—FL—IILERARKY
H—KL—ILE% & T(Gr-B-4E) 364 m
L=364m
FEHIFL CoE#llfl 46
AsEHIFL 50
RAMEER &Y
HIEHERRR HIEORANEET
TR X 2B =144 14 K
FEIRET 14 #




XE#ET
g

iom
B

3
Bl | o

XE#RHEE

BEETTERLY, REREHRSY
HER

FEEELY

RE R ATR)

SMAGE EiE BT W=15cm 224 x 2=448

REHRRA LK)
R B BfE W=15cm #

a9 — S

REHFRANAULR) B F#R W=15cm
L=27m x 27 x 3L —> x 26 3240

REHBRIUL) B E#H W=45cm
L=1.5m X 134& x 3L—> x 2R 117.0

&t
RE (<A Vh)
L= 3240 + 3510 = 675.0

15cmiftE
X3

4480 m

1120 m

3240 m

3510 m

6750 m




	【工事数量総括表】R6+志賀中野　車線切替工
	工事数量総括表

	数量計算書
	1.車線　数量集計表
	2.数量計算書2
	2.数量計算書3


